VERIFICATION OF FINAL COST

PROJECT NAME:	Bayshore Memory Care					
LOCATION:	Section 27 Township 48 S Range 25 E Collier County, Florida					
NAME & ADDRESS OF OWNER:	Creekside East, Inc. 2600 Golden Gate Parkway Naples, FL 34105					

TYPE OF UTILITY SYSTEM: POTABLE WATER

<u>Item</u>	<u>Size</u>	Quantity	<u>Units</u>	<u>Cost</u>	<u>Total</u>
C-900 DR 14	10"	268	LF	\$24.47	\$6,557.96
C-900 DR 14	8"	207	LF	\$16.90	\$3,498.30
C-900 DR 14	6"	131	LF	\$12.38	\$1,621.78
C-900 DR 14	4"	135	LF	\$9.48	\$1,279.80
Meter w/ Backflow Assembly	8" x 3"	1	EA	\$44,651.48	\$44,651.48
Gate Valve	10"	1	EA	\$1,816.36	\$1,816.36
Gate Valve	8"	1	EA	\$1,213.23	\$1,213.23
Gate Valve	4"	1	EA	\$883.60	\$883.60
Fire Hydrant Assembly		3	EA	\$3,893.40	\$11,680.20
Fire Backflow Assembly	6"	1	EA	\$6,799.63	\$6,799.63
PIV	6"	1	EA	\$1,822.70	\$1,822.70
Check Valve	6"	1	EA	\$1,643.10	\$1,643.10
FDC		1	EA	\$1,300.35	<u>\$1,300.35</u>
		тот	AL COST		\$84,768.49

I do hereby certify that the quantities of material and services described above are true and an **CERTIFYING:**

Name and Title of Engineer Certifying

OF:

Peninsula Engineering 2600 Golden Gate Parkway Naples, FL 34105

I do hereby certify that the quantities of material and services described above are true and an

CERTIFYING;

Kevin Jensen, President

OF:

JENSEN UNDERGROUND UTILITIES, INC. 5585 Taylor Road Naples, Florida 34109

STATE OF FLORIDA)) SS: COUNTY OF COLLIER)

The foregoing instrument was signed and acknowledged before me this <u>1st day of December 2014 by</u> <u>Kevin Jensen</u>, who is personally known to me and who did not take an oath

Donna L. Ventre Notary Public



DONNA L. VENTRE Notary Public - State of Florida My Comm. Expires Jun 1, 2015 SEAL

CERTIFICATION OF CONTRIBUTORY COSTS (WATER)

PROJECT NAME:	Bayshore Memory Care					
LOCATION:	Section 27 Township 48 S Range 25 E Collier County, Florida					
NAME & ADDRESS OF OWNER:	Creekside East, Inc. 2600 Golden Gate Parkway Naples, FL 34105					
TYPE OF UTILITY SYSTEM:	POTABLE	VATER				
<u>Item</u>	<u>Size</u>	Quantity	<u>Units</u>	Co	st	<u>Total</u>
Meter w/ Backflow Assembly	8" x 3"	1	EA	\$40,821.4	18	<u>\$40,821.48</u>

I do hereby certify that the quantities of material described above are true and an accurate representation of the as-installed system.

TOTAL COST

CERTIFYING:

CERTIFYING:

NAME & TITLE OF ENGINEER CERTIFYING

OF:

Peninsula Engineering 2600 Golden Gate Parkway Naples, FL 34105

I do hereby certify that the quantities of material described above are true and an accurate representation of the as-installed cost of the system.

Kevin Jensen, President

OF:

JENSEN UNDERGROUND UTILITIES, INC. 5585 Taylor Road Naples, Florida 34109

STATE OF FLORIDA)) SS: COUNTY OF COLLIER)

The foregoing instrument was signed and acknowledged before me this <u>1st</u> day of December, 2014 by Kevin Jesnen who is personally known to me and who did not take an oath.

, Notary Public Donna L. Ventre

SEAL:

\$40,821.48



CERTIFICATION OF PRIVATE MATERIAL

PROJECT NAME:	Bayshore Memory Care				
LOCATION:	Section 27 Township 48 S Range 25 E Collier County, Florida				
NAME & ADDRESS OF OWNER:	Creekside East, Inc. 2600 Golden Gate Parkway Naples, FL 34105				

TYPE OF UTILITY SYSTEM: POTABLE WATER

<u>ltem</u>	Size	Quantity	<u>Units</u>	<u>Cost</u>	<u>Total</u>
C-900 DR 14	10"	268	LF	\$16.47	\$4,413.96
C-900 DR 14	8"	207	LF	\$10.90	\$2,256.30
C-900 DR 14	6"	131	LF	\$6.38	\$835.78
C-900 DR 14	4"	135	LF	\$3.48	\$469.80
Gate Valve	10"	1	EA	\$1,561.36	\$1,561.36
Gate Valve	8"	1	EA	\$1,008.23	\$1,008.23
Gate Valve	4"	1	EA	\$678.60	\$678.60
Fire Hydrant Assembly		3	EA	\$3,338.40	\$10,015.20
Fire Backflow Assembly	6"	1	EA	\$4,079.63	\$4,079.63
PIV	6"	1	EA	\$1,322.70	\$1,322.70
Check Valve	6"	1	EA	\$985.43	\$985.43
FDC		1	EA	\$800.35	<u>\$800.35</u>
		тот	AL COST		\$28,427.34

I do hereby certify that the quantities of material described above are true and an accurate representation of the as-installed system.

CERTIFYING:

NAME & TITLE OF ENGINEERING CERTIFYING

OF:

Peninsula Engineering 2600 Golden Gate Parkway Naples, FL 34105

I do hereby certify that the quantities of material described above are true and an accurate representation of the as-installed cost of the system.

CERTIFYING:

Kevin Jensen, President

OF:

JENSEN UNDERGROUND UTILITIES, INC. 5585 Taylor Road Naples, Florida 34109

STATE OF FLORIDA)) SS: COUNTY OF COLLIER)

The foregoing instrument was signed and acknowledged before me this <u>1st</u> day of December, <u>2014</u> by <u>Kevin Jensen</u>, who is personally known to me and who did not take an oath.

Donna L. Ventre Notary Public



DONNA L. VENTRE Notary Public - State of Florida My Comm. Expires Jun 1, 2015 Commission # EE 97879

VERIFICATION OF FINAL COST

PROJECT NAME:	Bayshore Memory Care				
LOCATION:	Section 27 Township 48 S Range 25 E Collier County, Florida				
NAME & ADDRESS OF OWNER:	Creekside East, Inc. 2600 Golden Gate Parkway Naples, FL 34105				

TYPE OF UTILITY SYSTEM: SANITARY SEWER

<u>Item</u>	<u>Size</u>	1.11	Quantity	<u>Units</u>	Cost	<u>Total</u>
SDR 26		8"	235	LF	\$46.35	\$10,892.25
Manhole			1	EA	\$5,189.80	\$5,189.80
Connect to Existing Manhole			1	EA	\$1,760.60	\$1,760.60
SDR 26		6"	116	LF	\$13.13	\$1,523.08
Cleanout Assembly		6"	3	LF	\$6,967.54	\$20,902.62
			тоти	AL COST		\$40,268.35

I do hereby certify that the quantities of material and services described above are true and an accurate representation of the as-installed system.

CERTIFYING:

Name and Title of Engineer Certifying

OF:

Peninsula Engineering 2600 Golden Gate Parkway Naples, FL 34105

I do hereby certify that the quantities of material and services described above are true and an accurate representation of the as-installed cost of the system.

CERTIFYING: Kevin Jenser, President

OF:

JENSEN UNDERGROUND UTILITIES, INC. 5585 Taylor Road Naples, Florida 34109

STATE OF FLORIDA)) SS: COUNTY OF COLLIER)

The foregoing instrument was signed and acknowledged before me this <u>1st</u> day of December, 2014 by <u>Kevin Jensen</u>, who is personally known to me and who did not take an oath.

Donna L Ventre Notary Public

SEAL:



CERTIFICATION OF CONTRIBUTORY COSTS (SEWER)

PROJECT NAME:	Bayshore Memory Care				
LOCATION:	Section 27 Township 48 S Range 25 E Collier County, Florida				
NAME & ADDRESS OF OWNER:	Creekside East, Inc. 2600 Golden Gate Parkway Naples, FL 34105				

TYPE OF UTILITY SYSTEM: SANITARY SEWER

<u>Item</u>	<u>Size</u>	Q	uantity	<u>Units</u>	Cost	Total
SDR 26		8"	235	LF	\$5.35	\$1,257.25
Manhole			1	EA	\$3,079.80	\$3,079.80
Connect to Existing Manhole			1	EA	\$40.60	\$40.60
SDR 26		6"	80	LF	\$3.13	\$250.40
Cleanout Assembly		6"	3	LF	\$170.90	\$512.70
			TOT	AL COST		\$5,140.75

I do hereby certify that the quantities of material described above are true and an accurate representation of the as-installed system.

CERTIFYING:

NAME & TITLE OF ENGINEER CERTIFYING

OF:

Peninsula Engineering 2600 Golden Gate Parkway Naples, FL 34105

I do hereby certify that the quantities of material described above are true and an accurate representation of the as-installed cost of the system.

CERTIFYING:

Kevin Jensen, President

OF:

JENSEN UNDERGROUND UTILITIES, INC. 5585 Taylor Road Naples, Florida 34109

STATE OF FLORIDA)) SS: COUNTY OF COLLIER)

The foregoing instrument was signed and acknowledged before me this <u>1st</u> day of <u>Uecember</u>, 2014 by <u>Kevin Jesnen</u>, who is personally known to me and who did not take an oath.

Ventre



Donna L. Ventre , Notary Public UJENSON01\Company\Excel_Doc\DONNA-1\Tim\VOFC\A Master VOFC\A-Master Template-County-MATERIAL ONLY

CERTIFICATION OF PRIVATE MATERIAL

PROJECT NAME:	Bayshore Memory Care				
LOCATION:	Section 27 Township 48 S Range 25 E Collier County, Florida				
NAME & ADDRESS OF OWNER:	Creekside East, Inc. 2600 Golden Gate Parkway Naples, FL 34105				
TYPE OF UTILITY SYSTEM:	SANITARY SEWER				

<u>Item</u>	Size	Quantity	<u>Units</u>	Cost	<u>Total</u>
SDR 26	6"	36 TOTAL	LF COST	\$3.13 \$3.13	<u>\$112.68</u> \$112.68

I do hereby certify that the quantities of material described above are true and an accurate representation of the as-installed system.

CERTIFYING:

NAME & TITLE OF ENGINEERING CERTIFYING

OF:

Peninsula Engineering 2600 Golden Gate Parkway Naples, FL 34105

I do hereby certify that the quantities of material described above are true and an accurate representation of the as-installed cost of the system.

CERTIFYING Kevin Jensen, President OF: JENSEN UNDERGROUND UTILITIES, INC. 5585 Taylor Road Naples, Florida 34109 STATE OF FLORIDA)) SS: COUNTY OF COLLIER)

The foregoing instrument was signed and acknowledged before me this <u>1st</u> day of December, 2014 by <u>Kevin Jensen</u>, who is personally known to me and who did not take an oath.

ΛQ Donna L. Ventre , Notary Public

SEAL:

